EAGRAROBREERT — 2 N— ABISH —F

2020182680 (H) 1E4LU9H

i ox4E 1Bo52x Ewl &8

‘ [Riz] & ‘ [REBE] — | & (%) 1800M 4=

[~&E%] 1% 7,600,000 ~ 27 :3,000,000H” ~ 337 :1,900,000H

4 7% 11,100,000 5 & :760,000 M

& %B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
N2 4 4 | EREE 1:54.0 1-1-1-1 | 38.7| 96.0 | 6 492 | MAKERAY (i)
N . B2 PP 56.0 o oy | S
Rihrexy BAR-—HFZHA & RHS
= = ; # 5 | AllFEIEA 1:54.3 2-2-2-2 [38.9]93.4| 7 478 | HEREB (%3#)
2158 7'f l\jj777t 57.0 (1 3/4) (0) EHEm
L:x>in4O— B: XN TRE FRESS
4 5 0. x—=7+4— 1:54.5 8-6-7-4 |38.7| 91.7 | 3 488 | FEEX (E#l)
311 |F=AR*=D— 57.0 ) o) | @0 G1L—>2
RIVINATA—H— B:SNYF—IL ERT7—L
. HIDa1E : -3-3- NE—F (E#)
®@FT)—FY r> # 6 i 1(.15/42.)6 4-3-3-3 [ 39.0 | 90.9 | 1 zzg? ;;é#m'ﬁﬁ
LY LZ14N—b B:¥3v7IL1X BT 7 — L
=« aiGiE :54. —11-12— . . HHX= (EH)
®I7+4—r5> [B) # 5 el 1(754t)6 13-11-12-6 | 38.5 | 90.8 | 10 32) e
YY1 752 B:o-—¥L—X [ELAEEAIES
“ R JLHERS :54. —6-7- . . ERE (EH)
Y INUS 57— [B] o4 el 1(15/42>7 6-6-7-6 |38.9| 90.0 | 5 (i?j) 2l
:AvaizZgr— B:UU—FTHFF1IL EiEEs
TSI 2 4 | KB 1:55.1 9-9-7-9 [39.3]86.7 | 8 450 | BIUER (FiH)
717|122 A “ 7 0 @ 1/2) o | BB
A= XA A4 BV I7INA R A R FE
= 5 4 5 | REES 1:55.5 15-15-15-14| 38.4 | 83.0 | 11 452 | REE(R— (5E)
g|8[14 7/ 7 —=> &0 2172 ) |FAtEE
Z:ANT—TI B:IV/EXTy b HROUE D45
5 = o4 | EEEHE 1:55.7 4-3-3-5 | 40.1] 82.2 | 4 480 | BTHL (EH)
9|7[13| 2>/ —n7v—n 5.0 M o | TESR= R0 TR )
R:v=Z24—-3=224— B:ora—-L-> =2 =N
e o4 | AEGH 1:55.7 6-6-6-6 | 40.0| 82.1 | 2 516 | mAEH ()
108 15| ¥~ T AL A 6.0 (~F) ) | HEER
L:Er/n7aq B:y—HH)— TS
; 47 | BFPREKER 1:55.8 13-14-13-10| 39.5 | 80.9 | 14 506 | BHF ()
1115/ 9 V% i m| [B] ¥¢56.0 (3/4) (+30) - 9]
L:7=U74—X B:d—-IWKvwyIE FREE
=3 47 F. 3FU7 1:56.3 11-11-13-13| 40.0 | 77.2 | 12 524 | EIEXHE (5EH)
12011 ®7F7 >~ 57.0 ® (i | W ESH - TU—s-x-aza
L:gr—3I)7> BiuAxFYy HE SR
o # 5 | AUTR 1:57.9 12-11-10-10| 41.9 | 66.9 | 13 | 438 |iRARL (E#)
13g) 6| F—HAK—HZ §7.0 (10 () | FEAR
RiANT =N B:TUTFAIAyF #E IER
S s N RLREAE :58. -10-10- . . =iEE (ER)
M IR LT [B] o4 L 1(758t§) 9-10-10-10 | 42.0 | 66.3 | 9 :g;s -
R:iEr/Oo7oq BiARAFOXT HES A4S
Sy = o6 | BRI 2:00.2 3-3-3-14 |44.6| 55.1 | 15 | 514 |PIIARK (Eil)
15Q 10| ®F 3 TIAHTT 1 57.0 (214) () | EREEX
R:ATIRSAT BNbLTY bail:: s
@ 21 L
£ 51.4-38.7
NA> 24 L | 12.6-11.7-12.5-13.2-12.6-12.7-12.8-12.5-13.4
® I—F—@EBIERL
13=7r= (x3,8)-10(2,13) (5,15)1(12,7)11,6(4,9)=14
2al=5"= (x3,8) (2,10,13) (1,5,15)12,7(4,6,11)9=14
== (x3,8) (2,10,13)15(1,5,12) (6,7)4(9,11)=14
43—+ — (¥3,8)2,1,13(4,5,15)12(9,6,7)11(10,14)
[ N5
B 3 1,108 714K 3-8 3,450/ e E 2-5 2,000/ EE 1-3-8 28,960
B B 3 320M =6 1,730H B = 3-8 9,940M EH 3-8-1 176,040
8 510M 1-8 2,820 B H 3-8 17,490M
1 270M

ABRICOVTHRTEEERROODE, THEB LS,




